Total No. of Printed Pages—8

3 SEM TDC GEBT (CBCS) GE 3 (A/B)

2023
( Nov/Dec )

BOTANY
( Generic Elective )
Paper : GE-3

Full Marks :. 53
- Pass Marks : 21
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The figures in the margin indicate full marks
Jor the questions
Paper : GE-3 (A)
( Plant Anatomy and Embryology )

1. (@ oo fan R ws Bt Pfawa ;. 1x3=3
Choose the correct answer of the
following :

(i) o et 3 whra TRy e 6w /
fam / cRoizeer) -

The tissue responsible for

secondary growth in plant is
cortex / cambium / pericycle.
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(i) G IRsT 15w 731 olEw FARY TR
ORWE e [/ CRGE [/ |
The epidermis of plant body is '
developed from dermatogen /
periblem / plerome.

(m)wﬁ%wwﬁmaﬂtlm/’l@
W AR AT

In hydrophytic plant, .xylem /

= aerenchyma / pxth is poorly
——  developed.
(b) & isﬁ 3 A : 1%2=2

Fill in the blanks :

(i) R-Froes -ive @om @R oI
G oo = | |
After double-fertilization, zygote and
—cell are formed.

(i) *IR9IEY 5T @ i QI |

The process of development of
pollen grains is called

-

4x3=12

Write short notes on :
(@) &% S Siewem -
Adaptation of xerophyte
( Continued )

( 3)

(b) AL [HRIEGAA

Apomixis

(c) TR SRITALR ﬁﬁ*ﬂ’ﬁ[{

Advantages of cross-pollination

3. o T WA B2 s o I wpiv oies
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TR R IR T T4 2+8=10

What is meristematic tissue? Classify and
describe the meristematic tissue according
to its position and function.

539l /| Or
&y Gt forat -

Write short notes on :

(@) SRE™ T

Xylem tissue

5x2=10

(b) FAAJ SR T 4P
Types of stomata in dicots

@wﬁmﬁwmmmmﬁammm
Liiciiz e 2+10=12

What is cambium? Discuss the function of
cambium in secondary growth of plant.
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Write short notes on :

Casparian strip

HRIIIE R

= Microsporogenesis

B

I

|

5. SRS Re7 R AT SRS Seved
aF ey T ey aide I = |

FRIMAST CFHEPRR S | 2+6+6=14

What is pollination? “Pollination is an
important phenomenon: in the life cycle of
flewering plant.” Justify the statement.
Discuss the contrivances of self-pollination.

%3t / Or
5y Gt forar o . 7x2=14
Write short notes on :
(@) TESFTOR YR s
Application of polyembryony

(b)) TEs e TR g9y
Double-fertilization and its significance

( Continued ) * 24P/302
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i Paper : GE-3 (B)

( Economic Botany and Plant Biotechnology )

1. (@) oS T feee wE e A ;. 1x3=3

Choose the correct apWer of the
following :

(i) . @. «. RraRRifiR %Ry wRés
T @ @FR [ [®AHs / | w |
The discoverer of DNA ﬁngér-

printing is Alec Jeffreys / Robertis /
Paul Berg. .

(i) MBowe | PWESE [ @R
&' FefFEee o @b R e
1 =@ | ,

-

Ligase / Hydrolase- / Reét.riction
endonuclease is used as molecular
scissor.

(i) TR Teoemm <o wRe-APoy afbw /
SR / it | :

The centre of origin of wheat is
South-West Asia / America / Africa. .
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(b) AW B o[ T : | 1x2=2

Fill in the blanks :
(i) O WS AN XA
The scientific name of tea is-
(ii) 49 AP T
The edible part of rice is ____

1 ‘ H\

2. & G ﬁm 4x3=12

Write short notes on :

(@ R q. P f
) RAPD

(b) . B, .
PCR

(0 SR @& @%. 3,
RLFP

3. csfoerey Bl vw et s w12 Triaepiz R
ﬁm%&% T R wite frar

What do you mean by Vavilov’s centre of
origin? Write briefly different centres of
origin of cultivated crops with examples.
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2+10=12

( Continued )

(7))

wet / Or
oY it ol ;T 6x2=12

Write short notes on :

(@ T5. 9w q. feaaiEfo]
DNA fingerprinting

(b) BRcre QregfeRw e

Application of biotechnology in medicine

4. I i S SIF IR TRF B 6+6=12
Give a brief account of production process
and uses of cotton.

9{r / Or
5 Gt fort - 6x2=12
Write short notes on :
(a) e Rl i Sesvm afdFm
Production process of mustard oil from
mustard seeds o
(b) FACNTE
Endosperm culture

5. & i &7 & s wifemz & 752
FMS PR e e [ wfewg gRIW
R S w1 2+4+6=12
What is genetic engineering? What are the
tools. of genetic engmeermg? Also mention
the application of genetic engneermg in crop
improvements.
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%{t / Or
5y Gt ot -

QX2=12
Write short notes on :

(@) <R PRt
Molecular diagnosis

() F&m At

Genetic counselling

* % %k
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